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©el: o5 29 X CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
EEPYEE 1,654,974 1,761,842 £106,868
2RSS Y(LYNTBHI/YYULAHBL) 1,318,631 1,415,499 96,868
o5 2% X 591,922 672,340 £80,418
UYL 48 500,702 581, 120 £80,418
201 2Bt | 38,290 42,120 3,830
02 232l 25,730 29,560 £3,830
oozl 1,000 2,500 A1,500
— MRA Al 1,000 2,500 A1,500
OANEZHIRX I 9,750 12,080 £2,330
—=5oF U H4UANEY RXB4 0 1,000 A1,000
L CER-1- PSR 2,310 3,640 A1,330
202 04t 20,400 24,500 A4,100
EEEEET 20,400 23,000 £2,600
ORNHEA B2 28 2,800 5,400 A2,600
05 SR W 0 1,500 A 1,500
OHSDEIIZ DM 0 1,500 A1,500
401 NEHIL 2 THYI 358,512 442,000 783,488
01 Al bl 358,512 442,000 £.83,488
O3 212uY 130,029 142,000 A11,971
O=3o® HMUBAANAY 2= ZAl 228,483 300,000 AT1,517
405 Tt aHE St 75,500 64,500 11,000
IR EEEE 73,500 62,500 11,000
O4IHE TVRUEH 2 0 3,000 A3,000
O=s/om o 24 ZIEEI 2 14,000 0 14,000
oY g5 N 726,709 743, 159 ~16,450
o g5 X 726,709 743, 159 A16,450
205 | 51 bl 726,709 743, 159 ~16,450
EEEENTT 8,000 13,000 5,000
OSARAOILL L FRAMS HAX A8 5,000 0,000 5,000
04 ol 22l 0t bl 44,400 51,400 A7,000
OHER =28 Hst 42,200 44,200 A2,000
OZHIUMEA L PSHACA ¥ 2,200 7,200 5,000
07 AP NLH (IS, HHDS) 2,000 6,450 £4,450
O 2@ AL DS 0 1,950 A1,950
Ood® MHMDE BA=Y 2,000 4,500 £2,500
#H2 YA (2B AMR2)(IIEHIIE) 336,343 346,343 £10,000
EEE T 247,459 257,459 £10,000
RN 247,459 257,459 £10,000
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101 121 H] 247,459 257,459 210,000

01 2= 118,105 122,105 24,000
Ozlz=2=¢ 118,105 122,105 A 4,000

— 63 48,673 52,673 A 4,000

03 RINAAZZ2XE > 129,354 135,354 26,000
ooy & o2 F54 83,149 89,149 26,000
—zNIeE 5,751 11,751 26,000




